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(Queue)
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First	In,	First	Out	
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#include	<queue>
queue< >	q;
q.push(x); O(1)
q.front(); O(1)
q.pop(); O(1)
q.empty(); O(1)
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(Bellman-Ford	algorithm)
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#include	<queue>
priority_queue< >	pq;

pq.push(x); O(log	n)
pq.top(); O(1)
pq.pop(); O(log	n)
pq.empty(); O(1)

n:	pq
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for(int k =	0;	k <	V;	k++)
for(int i	=	0;	i	<	V;	i++)
for(int j =	0;	j <	V;	j++)
dp[i][j]	=	min(dp[i][j],	dp[i][k]	+	dp[k][j]);
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for(int k =	0;	 k <	V;		k++)
for(int i	=	0;	 i	<	V;		i++)
for(int j =	0;	 j <	V;		j++)
dp[i][j]	=	min(dp[i][j],	 dp[i][k]	+	dp[k][j]);
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for(int k =	0;	 k <	V;		k++)
for(int i	=	0;	 i	<	V;		i++)
for(int j =	0;	 j <	V;		j++)
if(dp[i][k]	!=	INF		&&		dp[k][j]	!=	INF)
dp[i][j]	=	min(dp[i][j],	 dp[i][k]	+	dp[k][j]);
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